A 4AE . $336, 795

F 3 B

F4-8: $67, 359

-
— mmm
—_—

SFF _ENBEFRRABR(FEA)

T A8 $35.3

B AR 1

3 B 10 H(Z#—)

3 H 11 H(EHZ)

S A D ECEHE )

3 B 13 H(EHM)

.!A 2P
3 H 14 H(E#H)

A% 1,915 AGE:$46,525) D] 1,915 A(FE(5:$92,683) Bam| 1,915 A(FE{E:$82,562) [aml 1,884 A (FEAH:$71,730) 1,915 A (FE{:$43,295)
EX-3 B RER I8 MK AR EX) KE I& TR B5 HERER
%4 i kL e B2 e 8 E22 B Rl e s At Rl Vs BE
Ui (2R TR 126K of & [HEA T 3K(EK) 45a) i [BK-Bl-EAREIE | EE B [AE cas i T "EEEAE 108Kg
W | FECERE TSR 18K o} #fi [EE4.2CEYI/NT | EEF] T [ AAI0%*"cas 24K o] 85 B E2ZE*Q HCERRTEMTE | 36Ke
B B 5420 SOK el A PEBEE 7T 20Kgf Bk |Eo R EELA(EED) 4Kl Z |4 ZEE-FEIE FIEE 12K 21
T 4LEE-EE 8Kel |EH 1Kol i |EZHR{ 4K} & |G mns HEEEEVIBRO*3K 44
FEEERFANT - 10Ke}  [EEAL(FS)2550¢ il %S 3Kel A |38E- K10 ABHE A& A 1.7K 1569,
BHE 1.5Kg] |EREEEHEEQH 55Kel  |&R4TEEE 5Kg /N JRQ.* 15Kg
ZAmEaes | aal  DREZK 20 LoKe.
T [EEEHE"12K 96Kel B | KEJFEEIPEEQ.* | 130K} 3 PEFSIE AR A Q | 1915(E| i |42 AA0%*"cas =] 90Kg
g (FEE/NECE)QRK | 3l B2 AR -ER 8Kel A |45z 1.5Kgf 88 |5 f- A E13K" o | BRSSO 30Kg
78 | ek 605E} B |5 *"cas 18K gl HE |BEMAUED) 0.2Kg} b |ERESEFRHEEQ* + LLEE-EE 10Kg
= ¥ | ZEM18K(F) 3 PEAE-KI0ARHS [EETF 1 |42 8- E R & 1Kg
: AB LK 34, i EHE 3Kg
G~ 1.5Ke = eIk | 144
- 120Kl B [AHEM E5R120K | [EEF| B |4 gL 105Ke} B [E i % E58120K B [EHERARHZI2K | FEE
9 (il 1Ko 1% |G 7= 1K e & [JE32-FHFHQ.* 3Kl 14 |& T G5 A Gy 1Kg
A 7} £ AL 1Kofl =
s = E \ 3 A
B L1150 KA AE) A [FRAESK(EL) - OO & |AEEEEES 70, 45Kol B | GBE4. 20 VI/INT M, |3 ZE . EfF
32 | (GLEEYER T8 8 AEE EB 3Kel BB (R HEEEAAIK 2 I UNSER N JK EEE 30Kg
T (VRS " 12K 12Kef 3% (HE5E5441.7K ofuf 3£ & | PREERE" 12K 2= | WhEELSK/ N A" 1
16 | B4 1Kgl |[KH&*3K 26 A 1E | X F Vcas El ;
% | B R 0.6Kgl |HZEE*Q 30K g} A = =
Y Ecas 6Kg PEEEHEEE (HR)30A Sl &
SR -ET 14
Y EYcas 6Kg
AFCK-TER A
H1601 AR
KB *
TIEACEYI/NT | 108 BE | BT FLIREQ
L2 1Kel izt EIERE D 60Kel s a Tt | | S EERQ 252 K 10Kg |
K FEARIEO 19151 #E4(3%)08:00 1767 fEHHQ
Sl 2o ga kR mEsE | 28 vha e AR mEaE | 28 o g g mis 28 | 28 T 6 AR s 88 | 28 9 5% KR Wk 8
% 5.3 RO 0A8 1.9 695 S8 2.5 2.1 1005048 =780 SH0EE2.60 0100 1.,0- 2.4 798 6252 o0l 1.0 2.4 788 St ol ) 1.4 742
i TE: £ % ph BHEIE: oz £ T R
Be [gﬁf’ﬁ‘?{'/f\?%? BATIRE Mjﬁ_}_ﬁ} B xS Iii g&%%ﬂ B & %—7’;’3&’-5‘13
RS L) ML




oal

B D,

-
— e

ZEFLE—_SHEETFRREZHEX(ELR)ELR

3 B 10 H(EH—) 3 B 11 HE#H) 3 A3 12 HEH=). 3 A 13 HEHMm) 3B 14 H(E#HFR) |
A 28 A A 28 A A 28 A A 2 A A 28 A
ESS BENER E3 e R E3:) S e £ MR R & HEER
K4 fi gt il 22 Bic k i@ E22 i w il E22 fic 28 s it B % &
i (225 2Kef & i [FoR-E-EAERE | EEE NEEE T 1Ko B |ZEEIOA =
F| = it | FEA2KETNT HIEEC 1Kgf 85 B 823E*Q 7K
Z [B#ExQ = U A =) Z e EE B | B2 12KE
B4 EE-EE & | & A W ZOKERT 1K JEETF] Y B | AEEE IR Q3K
FEHh(F5)2550g i |EX H A KR10ABHE 18 [fEE A 17K
¥ |EH ERE RN EEQ ZOHE0.6K Etsa Mg /INERQ.*
A YIER 6000 AREZL+1K
FREEHE" 12K CAVNEES I 0k = |28 28{E 1% E]
Blf & | BEE/NE(4)Q*3K NS -EE i g | - A 3K 8|S FH
7& | REAR S =| 2 A EZEN) b | SRR AN EEQ* T | S L/ EEQ
& 3| ZTM1L.8K () AL A10A RS o 4L 2EE-EE R &S -EE
AREZH*IK
Kok
B RS
B - B | EHE ERI20K | JEF |4 e B | EHEEE®RI20K |  EEFE| A |[EEERARBZIK|  EE
=1 EpEE 0.1Kgf 1% [E4% 0.1Kgf & B4k 0.1Kof 1% |E4% 0.1Kgll 1% [E44 0.1Kg
¥ B i B REZE*1K k21 P = R
i # 2 32 VA
R |ERE150g"KEE Al | Z AE0.6K (1) ~ 1E| & [SEEEEE Q. B |SE4KE/NT M | MR B * [EfF
Bl B |GLEMEIES T 8E) 84 HEEE | - AUNSEE3 JK |ZEE
& |JEEEHE"12K % |\HEE441.7K 3 & |RBEHE"12K = [ WhkESK/ NS
16 |E4% ARE4%*3K 1t E]
5 HEE*Q 5 ¥
SREEREEE ()30 A %
TIE4ACEYTNT HNEE . *
A 1L BCEERD N B R A T I S AZIEEH
K B SEATHQ _ET(38)08:00 HERTOQ
Bl 28 TR OKE His 2E | 28 TR Y OKE S 2E | o8 T 5 e s 28 | 28 T i KR il 28 | 2% Us B KR s ae
=
BERENS T e HATIE: [ BREE: : BR: i e =
[ #6 ik % 5 TN R B



